ERE23EE

A2 HiIAE HiiEE kA
A4 &1 g

48 68 8H 108 128 28

ERERH 2011/4/26 | 2011/6/8 | 2011/8/3 § 2011/10/12f 2011/12/7 | 2012/2/1
FREREFZI 12:50 13:50 12:35 14:55 13:45 12:50
XIE BEY £Y B B B £Y
SR (°C) 20 26 34 22 16 4
KB (°C) 16 21 30 23 12 6
2KE (m) 0.6 1.0 0.8 1.2 1.0 05
P BE BE BE BE BE BE

=R HeE-k | BEE-K ] KE-X | FBE-RX | FRE-G | KEE-F
=5 R EE R EE EE R

— — — — —
P 7.1 7.8 7.8 8.0 7.9 75
= DO (mg/1) 8.9 8.4 94 10 11 12
1’ |soD (mg/1) 1.6 <05 0.6 0.7 2.0 2.0
# |Iss (mg/1) 8 2 1 1 1 3
B |xmEEx (MPN/100mDf  1.1E+03 2.8E+03 8.0E+03 1.7E+03 3.0E+02 1.1E+03
B 4 0 £y (mg/1) 0.006 <0.005 <0.005 0.005 <0.005 0.005
HREY L (mg/1) <0.001 <0.001 - <0.001 <0.001 -
£ITY (mg/1) <0.1 <0.1 - <0.1 <0.1 -
£ (mg/1) <0.005 <0.005 - <0.005 <0.005 -
Nfiv B L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
it (mg/1) <0.001 <0.001 - <0.001 <0.001 -
FaskER (mg/1) <0.0005 <0.0005 - <0.0005 <0.0005 -
T ILEILIKER (mg/1) - - - - - -
PCB (mg/1) <0.0005 <0.0005 - <0.0005 <0.0005 -
-3 BYTT=P T (mg/1) <0.002 <0.002 - <0.002 <0.002 -
mig{bixE (mg/1) <0.0002 <0.0002 - <0.0002 <0.0002 -
1,2-Y'90014y (mg/1) <0.0004 <0.0004 - <0.0004 <0.0004 -
g |L1-v9RoIFLy (mg/1) <0.002 <0.002 - <0.002 <0.002 -
YA-12-900IFLY  (mg/1) <0.004 <0.004 - <0.004 <0.004 -
1,1,1-p)y0014y (mg/1) <0.01 <0.01 - <0.01 <0.01 -
1,1,2-h)y0014Y (mg/1) <0.0006 <0.0006 - <0.0006 <0.0006 -
B Iyjynnrsry (mg/1) <0.003 <0.003 - <0.003 <0.003 -
7h7900IFLY (mg/1) <0.001 <0.001 - <0.001 <0.001 -
1,3-9007°0A°Y (mg/1) <0.0002 <0.0002 - <0.0002 <0.0002 -
B |F734 (mg/1) <0.0006 <0.0006 - <0.0006 <0.0006 -
IVY (mg/1) <0.0003 <0.0003 - <0.0003 <0.0003 -
FANVANT (mg/1) <0.002 <0.002 - <0.002 <0.002 -
_oEy (mg/1) <0.001 <0.001 - <0.001 <0.001 -
v (mg/1) <0.001 <0.001 - <0.001 <0.001 -
B ERRUEMSEER (ng/l) 0.73 0.88 - 0.22 0.40 -
0% (mg/1) <0.1 <0.1 - 0.1 <0.1 -
1IF5% (mg/1) <0.1 <0.1 - <0.1 <0.1 -
LA TAxgy (me/1) <0.005 <0.005 — <0.005 <0.005 —
-3V E (mg/1) - - - - - -
£EF (mg/1) 0.98 1.2 0.61 0.42 0.40 0.38
e (mg/1) 0.014 0.063 0.061 0.066 0.045 0.027
Fifl (mg/1) - - - - - -
DR (mg/1) - - - - - -
SRV (mg/1) - - - - - -
i=FN (mg/1) - - - - - -
Pd=1=E 1N (mg/1) <0.001 <0.001 - <0.001 <0.001 -
HRILLTILTER (mg/1) <0.008 <0.008 - <0.008 <0.008 -
Z Ioz/—1L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
@ EPN (mg/1) - - - - - -
B Bt gy (mg/1) 6 6 - 13 5 -
g |cop (mg/1) 24 15 2.1 19 1.3 1.7
FUE=THER (mg/1) - - - - - -
EEEER (mg/1) 0.73 0.87 - 0.21 0.40 -
BEREER (mg/1) <0.01 <0.01 - <0.01 <0.01 -
YUY Y (mg/1) - - - - - -
AE () - - - - - -
R)ANBAZUERREE  (mg/l) - - - - - -
2—MIB (mg/1) - - - - - -
CARIV (mg/1) - - - - - -
E :—ﬁfif% (uS/cm) 100 110 140 160 120 160
]
—




